Assembly instructions @\@

Components: Components: Components: Components:

Nl=—

A X1 LEFT A X1 RIGHT

Hardware: Hardware: <
A1 M8 X8| |B1 @mmm M6X35MM X12 | |C1 @B X4
A2 = M8 X8| B2 & M6 X1 I M8X65MM X2
A3 Mg x8| [B3 X2 | |63 &= M8 X1
M S— M8 XI

STEP 1:

(_

Do not tighten the No. B1
socket head cap screws at
first, so as to facilitate
subsequent installation

Connect the zipper in

front of the backrest )
with the back of the cushion
and close the zipper

Tighten the socket head
cap screws with the






